RESOLUTION

WHEREAS bids were received by the City of Hogansville, March 18, 2020, for Water System Improvements – FY2019 CDBG, and

WHEREAS the low, responsible, responsive bidder is Smith Pipeline, Inc. of Palmetto, Georgia with a bid in the amount of \$948,905.00, and

WHEREAS the low bidder, Smith Pipeline, Inc. appears to have the necessary financial and technical ability to complete the project,

BE IT THEREFORE resolved the City of Hogansville hereby makes contract award of the construction contract to the low bidder, Smith Pipeline, Inc. of Palmetto, Georgia, in the amount of \$966,405.00 with Alternate No. One and Change Order No. One.

THIS RESOLUTION was passed by a vote of ______to ____at a regular meeting of the Mayor and Council on ______.

CITY OF HOGANSVILLE, GEORGIA

William Stankiewicz, Mayor

Attest:

Clerk



March 20, 2020

Mayor and Council City of Hogansville 400 E Main Street Hogansville, Georgia 30230-1136

Attn: Mrs. Lisa Kelly, Interim City Manager

Re: City of Hogansville Water System Improvements – FY2019 CDBG Project No. 182223

We have checked the bids received March 18, 2020, on subject project. A tabulation of the bids received is as follows:

	Contractor	Bid Amount
1.	Smith Pipeline, Inc. Palmetto, Georgia	\$948,905.00
2.	LCS & Associates, LLC Carrollton, Georgia	\$1,034,305.00
3.	Crawford Grading & Pipeline, Inc. Luthersville, Georgia	\$1,201,835.50
4.	UWS, Inc. Trion, Georgia	\$1,366,900.00
5.	Site Engineering, Inc. Atlanta, Georgia	\$2,595,350.00

As indicated, the low bidder is Smith Pipeline, Inc. of Palmetto, Georgia with a bid of \$948,905.00. Since the low bidder appears to have adequate experience, technical ability and financial capability to complete the project, we recommend contract award be made to Smith Pipeline, Inc. of Palmetto, Georgia.

Atlanta • 2255 Cumberland Parkway • Building 400 • Atlanta, Georgia 30339 • Tel: 770-333-0700 Augusta • 4210 Columbia Road • Building 3 • Augusta, Georgia 30907 • Tel: 706-863-8800 Mayor and Council City of Hogansville / 182223 March 20, 2020 Page 2 of 2

The low bidder included prices for alternate work items shown on the bid tabulation. We recommend the City award the contract with Alternate One and Change Order No. One in the amount of \$966,405.00. The purpose of Change Order No. One is to add Alternate No. One to the contract. A copy of Change Order No. One is enclosed.

We have also enclosed a certified tabulation of the bids received and a sample resolution the City should consider adopting.

A copy of the System for Award Management (SAM) search results is also enclosed. These results document no active records of exclusion or debarment of participants in this project were found in a search of the federal SAM database.

If the contract is awarded, we will proceed with preparation of the contract documents for execution by both the contractor and the City.

Yours truly,

Greg Ashworth, P.E.

Greg Ashworth, P.E. Turnipseed Engineers

GJA:sn Enclosures

CHANGE ORDER NO. ONE MARCH 20, 2020

OWNER: CITY OF HOGANSVILLE, GEORGIA WATER SYSTEM IMPROVEMENTS - FY2019 CDBG **PROJECT: CONTRACTOR:** SMITH PIPELINE, INC.

A	. <i>'</i>	The following quantities of work items are hereby deducted from the contract:						
ITI	EM							
N	0.	QTY.	UNITS	5 DESCRIPTION	UNIT PRICE	TOTAL PRICE		
1.				PVC WATER LINE				
	a.	(2,900)	LF	6" PVC (Class 235 DR18)	\$20.00	(\$58,000.00)		
6.				RESILIENT SEATED GATE VALVES				
	a.	(5)	EA	6" G.V. and V.B.	\$800.00	(\$4,000.00)		
					Deduct	(\$62,000.00)		

The following quantities of work items are hereby added from the contract: В. ITEM

NO.	QTY.	UNITS	DESCRIPTION	UNIT PRICE	TOTAL PRICE
22.			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$25.00	\$72,500.00
b.	5	EA	8" G.V. and V.B.	\$1,400.00	\$7,000.00
\mathcal{K}_{i}				Add	\$79,500.00
Total Cl	ange In	Contrac	t Amount:		\$17,500.00
Original	Contrac	t Amour	nt:		\$948,905.00
Revised	Contract	t Amoun	t with Change Order No. One:		\$966,405.00
Change i	n Contrac	et Time:			None
-				L Dine Church furn	6 inch to 9 inch

Reason for Change:

Increase Pine Street from 6-inch to 8-inch.

Requested by:

Smith Pipeline, Inc.

Recommended by:

Turnipseed Engineers

Accepted by:

City of Hogansville, Georgia

Date

Date

Date

This is to certify that this tabulation is true and correct.

Greg Ashworth, P.E. Turnipseed Engineers

CITY OF HOGANSVILLE, GEORGIA	Smith Pipeline, Inc.
WSI/FY2019 CDBG WATER LINES	Palmetto, Georgia

For furnishing all materials and equipment and performing all labor necessary for constructing the Water System Improvements as shown on the Drawings and as specified for the following unit prices and approximate quantities shown.

ITEM

NO. QTY. UNITS DES	SCRIPTION	UNIT COST	TOTAL COST
--------------------	-----------	-----------	------------

1.						
	a.	21,045	LF	6" Pipe Line (Class 235 SDR 18)	\$20.00	\$420,900.00
	b.	225	LF	2" Pipe Line (ASTM D2241)	\$15.00	\$3,375.00

2.				DUCTILE IRON WATER LINE		
	a.	120	LF	6" Pipe Line and/or F.H. Lead	\$24.00	\$2,880.00
	b.	115	LF	6" M.J. / R.J. Ductile Iron Water Line	\$45.00	\$5,175.00
3.		4.0	TON	MECHANICAL JOINT FITTINGS	\$5,400.00	\$21,600.00
4.		7.2	СҮ	CONCRETE BLOCKING	\$500.00	\$3,600.00
5.		100	LF	12" STEEL CASING (0.250" w.t.) INSTALL BY OPEN CUT	\$105.00	\$10,500.00

6.			RESILIENT SEATED GATE VALVES	·	
a.	79	EA	6" G.V. and V.B.	\$800.00	\$63,200.00
b.	1	EA	4" G.V. and V.B.	\$750.00	\$750.00
c.	3	EA	2" G.V. and V.B.	\$725.00	\$2,175.00
7.	29	EA	Install 3-Way Fire Hydrant on New 6" Line (Include Fire Hydrant, D.I. Fittings, Locking Tee, Megalugs, Locking Adapter and Stone)	\$2,550.00	\$73,950.00
8.	1	EA	BLOW-OFF HYDRANT	\$1,750.00	\$1,750.00

Smith Pipeline, Inc. Palmetto, Georgia

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
9.			CONNECT TO EXISTING WATER LINES		ii.
a.	9	EA	6"	\$2,000.00	\$18,000.00
b.	1	EA	3"	\$1,500.00	\$1,500.00
c.	1	EA	2"	\$1,500.00	\$1,500.00
10.			TAPPING SADDLE		
a.	1	EA	6" x 2"	\$1,000.00	\$1,000.00
b.	1	EA	6" x 3"	\$1,000.00	\$1,000.00
11.	4		REMOVE AND REPLACE		
a.	300	LF	Asphalt Roadway	\$65.00	\$19,500.00
b.	110	LF	Asphalt Driveway	\$45.00	\$4,950.00
c.	1,200	LF	Concrete Sidewalk	\$30.00	\$36,000.00
d.	100	LF	Concrete Driveway	\$45.00	\$4,500.00
e.	50	LF	Brick Pavers	\$50.00	\$2,500.00
f.	4	EA	Handicap Ramps	\$1,350.00	\$5,400.00
g.	370	LF	Gravel	\$15.00	\$5,550.00
12.			FREE BORE		
a.	74	EA	6" (<50' in addition to pipe)	\$500.00	\$37,000.00
b.	3	EA	6" (>50' in addition to pipe)	\$1,500.00	\$4,500.00
13.			SOIL EROSION AND SEDIMENT CONTROL		
a.	18,400	LF	Grassing for Water Mains	\$1.00	\$18,400.00
b.	56	EA	Haybale Check Dam, Cd-Hb	\$40.00	\$2,240.00
c.	5	EA	Stone Check Dam, Cd-S	\$150.00	\$750.00
d.	8	EA	Inlet Sediment Trap, Sd2-P	\$125.00	\$1,000.00
e.	400	LF	Silt Fence, Sdl-S	\$4.00	\$1,600.00
f.	70	SY	Riprap, Rp	\$70.00	\$4,900.00
g.	60	SY	Slope Stabilization, Ss	\$20.00	\$1,200.00

Smith Pipeline, Inc. Palmetto, Georgia

ITEM NO.	QTY.	TIMITS	DESCRIPTION	UNIT COST	TOTAL COST
	QII.	UNIIS	DESCRIPTION	UNII COSI	IOTAL COST
14.			STORMWATER MONITORING	T	
a	1	LS	Monitoring Sites (Establishing, Constructing and Operating All Sites, Prepare and Submit Notice of Intent and Notice of Termination and all land disturbing fees per Section 3.16)	\$4,000.00	\$4,000.00
b	. 10	EA	Sampling Events	\$100.00	\$1,000.00
15.			SERVICE CONNECTIONS AND RECONNECTIONS		
a	6,000	LF	³ ⁄4" Service Line (PEX)	\$1.00	\$6,000.00
b	. 200	LF	1" Service Line (PEX)	\$4.00	\$800.00
C	1,460	LF	2" PVC Schedule 40 Casing	\$1.00	\$1,460.00
d	. 86	EA	Service Bores (In addition to items a, b, c, and f)	\$250.00	\$21,500.00
e	. 4,800	LF	Grassing Service Lines	\$1.00	\$4,800.00
f	. 154	EA	Reconnect Services (including pipe saddle, corporation stop and curb stop)	\$600.00	\$92,400.00
Subtotal	Amount	Bid, Iten	is 1 through 15 Inclusive, the amount of:		\$914,805.00

16.			INSERT VALVES		
a.	1	EA	8"	\$8,300.00	\$8,300.00
b.	1	EA	6"	\$7,000.00	\$7,000.00
c.	1	EA	4"	\$6,700.00	\$6,700.00
17.	100	LF	SOD	\$15.00	\$1,500.00
18.	1	EA	RELOCATE EXISTING FIRE HYDRANT TO NEW WATER LINE (INCLUDING D.I. FITTINGS, LOCKING TEE, MEGALUGS, LOCKING ADAPTER, STONE, AND CONNECTION TO NEW LINE)	\$1,200.00	\$1,200.00

Smith Pipeline, Inc. Palmetto, Georgia

Extra Work if Ordered by Engineer

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
19.	100	CY	ROCK EXCAVATION	\$60.00	\$6,000.00
20.	40	СҮ	CRUSHED STONE STABILIZATION OR BEDDING (Including excavation and removal of unsuitable soil)	\$35.00	\$1,400.00
21.	1	EA	REMOVE 48" TREE ON WEST BOYD ROAD	\$2,000.00	\$2,000.00
Subtotal Amount Bid, Items 16 through 21 Inclusive, the amount of:					\$34,100.00

Subtotal Amount Bid, Items 16 through 21 Inclusive, the amount of:

TOTAL AMOUNT BID, ITEMS 1 THROUGH 21 INCLUSIVE, THE AMOUNT OF:

\$948,905.00

The Owner reserves the right to make certain changes in the work for the purpose of making an award. Note: Each bidder must fill in the amount as required below.

ALTERNATE BID ITEM

The Owner reserves the right to add the following alternate bid items to the work for the purpose of making contract award. Award of the contract may be with or without these items. Each bidder must fill in the unit price amount for each item below.

ITEM

UNIT COST TOTAL COST NO. **QTY. UNITS DESCRIPTION**

ALT-1			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$25.00	\$72,500.00
b.	5	EA	8" G.V. and V.B.	\$1,400.00	\$7,000.00

For furnishing all materials and equipment and performing all labor necessary for constructing the Water System Improvements as shown on the Drawings and as specified for the following unit prices and approximate quantities shown.

ITEM

NO. QTY. UNITS DESCRIPTION UNIT COST

1.				PVC WATER LINE		
	a.	21,045	LF	6" Pipe Line (Class 235 SDR 18)	\$15.00	\$315,675.00
	b.	225	LF	2" Pipe Line (ASTM D2241)	\$10.00	\$2,250.00

2.			DUCTILE IRON WATER LINE		
a	. 120	LF	6" Pipe Line and/or F.H. Lead	\$35.00	\$4,200.00
b	. 115	LF	6" M.J. / R.J. Ductile Iron Water Line	\$55.00	\$6,325.00
3.	4.0	TON	MECHANICAL JOINT FITTINGS	\$9,000.00	\$36,000.00
4.	7.2	CY	CONCRETE BLOCKING	\$500.00	\$3,600.00
5.	100	ĹF	12" STEEL CASING (0.250" w.t.) INSTALL BY OPEN CUT	\$60.00	\$6,000.00

6.			RESILIENT SEATED GATE VALVES		
a	. 79	EA	6" G.V. and V.B.	\$1,085.00	\$85,715.00
b	. 1	EA	4" G.V. and V.B.	\$850.00	\$850.00
с	. 3	EA	2" G.V. and V.B.	\$650.00	\$1,950.00
7.	29	EA	Install 3-Way Fire Hydrant on New 6" Line (Include Fire Hydrant, D.I. Fittings, Locking Tee, Megalugs, Locking Adapter and Stone)	\$3,200.00	\$92,800.00
8.	1	EA	BLOW-OFF HYDRANT	\$2,500.00	\$2,500.00

UNIT COST TOTAL COST

Certified Bid Tabulation

LCS & Associates, LLC Carrollton, Georgia

LCS & Associates, LLC Carrollton, Georgia

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
9.			CONNECT TO EXISTING WATER LINES		
a.	9	EA	6"	\$1,200.00	\$10,800.00
b.	1	EA	3"	\$1,000.00	\$1,000.00
c.	1	EA	2"	\$1,000.00	\$1,000.00
10.			TAPPING SADDLE	EK	
a.	1	EA	6" x 2"	\$1,000.00	\$1,000.00
b.	1	EA	6" x 3"	\$1,000.00	\$1,000.00
11.			REMOVE AND REPLACE		
a.	300	LF	Asphalt Roadway	\$75.00	\$22,500.00
b.	110	LF	Asphalt Driveway	\$60.00	\$6,600.00
c.	1,200	LF	Concrete Sidewalk	\$30.00	\$36,000.00
d.	100	LF	Concrete Driveway	\$30.00	\$3,000.00
e.	50	LF	Brick Pavers	\$50.00	\$2,500.00
f.	4	EA	Handicap Ramps	\$3,000.00	\$12,000.00
g.	370	LF	Gravel	\$11.00	\$4,070.00
12.	_		FREE BORE		
a.	74	EA	6" (<50' in addition to pipe)	\$1,300.00	\$96,200.00
b.	3	EA	6" (>50' in addition to pipe)	\$2,800.00	\$8,400.00
13.			SOIL EROSION AND SEDIMENT CONTROL		
a.	18,400	LF	Grassing for Water Mains	\$1.00	\$18,400.00
b.	56	EA	Haybale Check Dam, Cd-Hb	\$20.00	\$1,120.00
c.	5	EA	Stone Check Dam, Cd-S	\$120.00	\$600.00
d.	8	EA	Inlet Sediment Trap, Sd2-P	\$200.00	\$1,600.00
e.	400	LF	Silt Fence, Sdl-S	\$2.00	\$800.00
f.	70	SY	Riprap, Rp	\$35.00	\$2,450.00
g.	60	SY	Slope Stabilization, Ss	\$9.00	\$540.00

LCS & Associates, LLC Carrollton, Georgia

ITEM NO.	`	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
14.		<u>v</u>		STORMWATER MONITORING		1011111 00001
	a.	1	LS	Monitoring Sites (Establishing, Constructing and Operating All Sites, Prepare and Submit Notice of Intent and Notice of Termination and all land disturbing fees per Section 3.16)	\$5,000.00	\$5,000.00
l	b.	10	EA	Sampling Events	\$100.00	\$1,000.00
15.				SERVICE CONNECTIONS AND RECONNECTIONS		
i i	a.	6,000	LF	3/4" Service Line (PEX)	\$6.00	\$36,000.00
ł	b.	200	LF	1" Service Line (PEX)	\$8.00	\$1,600.00
	c.	1,460	LF	2" PVC Schedule 40 Casing	\$11.00	\$16,060.00
C	d.	86	EA	Service Bores (In addition to items a, b, c, and f)	\$700.00	\$60,200.00
	e.	4,800	LF	Grassing Service Lines	\$1.00	\$4,800.00
	f.	154	EA	Reconnect Services (including pipe saddle, corporation stop and curb stop)	\$500.00	\$77,000.00
Subtota	al A	mount	Bid, Item	ns 1 through 15 Inclusive, the amount of:		\$991,105.00

16.			INSERT VALVES		
a.	1	EA	8"	\$10,000.00	\$10,000.00
b.	1	EA	6"	\$9,000.00	\$9,000.00
c.	1	EA	4"	\$8,000.00	\$8,000.00
17.	100	LF	SOD	\$20.00	\$2,000.00
18.	1	EA	RELOCATE EXISTING FIRE HYDRANT TO NEW WATER LINE (INCLUDING D.I. FITTINGS, LOCKING TEE, MEGALUGS, LOCKING ADAPTER, STONE, AND CONNECTION TO NEW LINE)	\$2,500.00	\$2,500.00

LCS & Associates, LLC Carrollton, Georgia

Extra Work if Ordered by Engineer

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
19.	100	CY	ROCK EXCAVATION	\$60.00	\$6,000.00
20.	40	СҮ	CRUSHED STONE STABILIZATION OR BEDDING (Including excavation and removal of unsuitable soil)	\$55.00	\$2,200.00
21.	1	EA	REMOVE 48" TREE ON WEST BOYD ROAD	\$3,500.00	\$3,500.00
Subtotal	Amount	Bid, Item	s 16 through 21 Inclusive, the amount of:		\$43,200.00

Subtotal Amount Bid, Items 16 through 21 Inclusive, the amount of:

TOTAL AMOUNT BID, ITEMS 1 THROUGH 21 INCLUSIVE, THE AMOUNT OF:

\$1,034,305.00

The Owner reserves the right to make certain changes in the work for the purpose of making an award. Note: Each bidder must fill in the amount as required below.

1

ALTERNATE BID ITEM

The Owner reserves the right to add the following alternate bid items to the work for the purpose of making contract award. Award of the contract may be with or without these items. Each bidder must fill in the unit price amount for each item below.

ITEM NO. UNIT COST TOTAL COST **QTY. UNITS DESCRIPTION**

ALT-1			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$19.00	\$55,100.00
b.	5	EA	8" G.V. and V.B.	\$1,400.00	\$7,000.00

For furnishing all materials and equipment and performing all labor necessary for constructing the Water System Improvements as shown on the Drawings and as specified for the following unit prices and approximate quantities shown.

ITEM

NO. QTY. UNITS DESCRIPTION UNIT COST TOTAL COST

1.	-		PVC WATER LINE		
a	21,045	LF	6" Pipe Line (Class 235 SDR 18)	\$20.88	\$439,419.60
b	. 225	LF	2" Pipe Line (ASTM D2241)	\$13.79	\$3,102.75

2.			DUCTILE IRON WATER LINE		
a.	120	LF	6" Pipe Line and/or F.H. Lead	\$38.87	\$4,664.40
b.	115	LF	6" M.J. / R.J. Ductile Iron Water Line	\$545.69	\$62,754.35
3.	4.0	TON	MECHANICAL JOINT FITTINGS	\$1.00	\$4.00
4.	7.2	CY	CONCRETE BLOCKING	\$325.00	\$2,340.00
5.	100	LF	12" STEEL CASING (0.250" w.t.) INSTALL BY OPEN CUT	\$543.15	\$54,315.00

6.		r	RESILIENT SEATED GATE VALVES		
a.	79	EA	6" G.V. and V.B.	\$805.20	\$63,610.80
b.	1	EA	4" G.V. and V.B.	\$681.60	\$681.60
c.	3	EA	2" G.V. and V.B.	\$481.60	\$1,444.80
7.	29	EA	Install 3-Way Fire Hydrant on New 6" Line (Include Fire Hydrant, D.I. Fittings, Locking Tee, Megalugs, Locking Adapter and Stone)	\$2,749.60	\$79,738.40
8.	1	EA	BLOW-OFF HYDRANT	\$1,216.00	\$1,216.00

Crawford Grading & Pipeline, Inc. Luthersville, Georgia

Crawford Grading & Pipeline, Inc. Luthersville, Georgia

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
9.			CONNECT TO EXISTING WATER LINES		
a.	9	EA	6"	\$1,500.00	\$13,500.00
b.	1	EA	3"	\$1,000.00	\$1,000.00
c.	1	EA	2"	\$1,000.00	\$1,000.00
10.			TAPPING SADDLE		
a.	1	EA	6" x 2"	\$591.20	\$591.20
b.	1	EA	6" x 3"	\$1,187.60	\$1,187.60
11.			REMOVE AND REPLACE		
a.	300	LF	Asphalt Roadway	\$90.92	\$27,276.00
b.	110	LF	Asphalt Driveway	\$88.39	\$9,722.90
c.	1,200	LF	Concrete Sidewalk	\$47.35	\$56,820.00
d.	100	LF	Concrete Driveway	\$46.45	\$4,645.00
e.	50	LF	Brick Pavers	\$200.00	\$10,000.00
f.	4	EA	Handicap Ramps	\$838.00	\$3,352.00
g.	370	LF	Gravel	\$8.92	\$3,300.40
12.			FREE BORE		
a.	74	EA	6" (<50' in addition to pipe)	\$1,500.00	\$111,000.00
b.	3	EA	6" (>50' in addition to pipe)	\$5,000.00	\$15,000.00
13.		<u>*</u>]	SOIL EROSION AND SEDIMENT CONTROL		
a.	18,400	LF	Grassing for Water Mains	\$0.60	\$11,040.00
b.	56	EA	Haybale Check Dam, Cd-Hb	\$63.00	\$3,528.00
c.	5	EA	Stone Check Dam, Cd-S	\$990.00	\$4,950.00
d.	8	EA	Inlet Sediment Trap, Sd2-P	\$200.00	\$1,600.00
e.	400	LF	Silt Fence, Sdl-S	\$7.00	\$2,800.00
f.	70	SY	Riprap, Rp	\$65.00	\$4,550.00
g.	60	SY	Slope Stabilization, Ss	\$18.00	\$1,080.00

Crawford Grading & Pipeline, Inc. Luthersville, Georgia

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
14.			STORMWATER MONITORING		
a.	1	LS	Monitoring Sites (Establishing, Constructing and Operating All Sites, Prepare and Submit Notice of Intent and Notice of Termination and all land disturbing fees per Section 3.16)	\$24,000.00	\$24,000.00
b.	10	EA	Sampling Events	\$600.00	\$6,000.00
15.			SERVICE CONNECTIONS AND RECONNECTIONS		
a.	6,000	LF	3/4" Service Line (PEX)	\$1.27	\$7,620.00
b.	200	LF	1" Service Line (PEX)	\$2.54	\$508.00
c.	1,460	LF	2" PVC Schedule 40 Casing	\$2.77	\$4,044.20
d.	86	EA	Service Bores (In addition to items a, b, c, and f)	\$400.00	\$34,400.00
e.	4,800	LF	Grassing Service Lines	\$0.01	\$48.00
f.	154	EA	Reconnect Services (including pipe saddle, corporation stop and curb stop)	\$510.65	\$78,640.10
Subtotal	Amount	Bid, Iten	is 1 through 15 Inclusive, the amount of:		\$1,156,495.10

16.				INSERT VALVES		
	a.	1	EA	8"	\$8,684.00	\$8,684.00
	b.	1	EA	6"	\$8,264.00	\$8,264.00
	c.	1	EA	4"	\$7,814.00	\$7,814.00
17.		100	LF	SOD	\$24.00	\$2,400.00
18.		1	EA	RELOCATE EXISTING FIRE HYDRANT TO NEW WATER LINE (INCLUDING D.I. FITTINGS, LOCKING TEE, MEGALUGS, LOCKING ADAPTER, STONE, AND CONNECTION TO NEW LINE)	\$1,078.40	\$1,078.40

Crawford Grading & Pipeline, Inc. Luthersville, Georgia

Extra Work if Ordered by Engineer

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
19.	100	CY	ROCK EXCAVATION	\$60.00	\$6,000.00
20.	40	СҮ	CRUSHED STONE STABILIZATION OR BEDDING (Including excavation and removal of unsuitable soil)	\$90.00	\$3,600.00
21.	1	EA	REMOVE 48" TREE ON WEST BOYD ROAD	\$7,500.00	\$7,500.00
Subtotal	\$45,340.40				

TOTAL AMOUNT BID, ITEMS 1 THROUGH 21 INCLUSIVE, THE AMOUNT OF:

\$1,201,835.50

The Owner reserves the right to make certain changes in the work for the purpose of making an award. Note: Each bidder must fill in the amount as required below.

ALTERNATE BID ITEM

The Owner reserves the right to add the following alternate bid items to the work for the purpose of making contract award. Award of the contract may be with or without these items. Each bidder must fill in the unit price amount for each item below.

ITEM UNIT COST TOTAL COST NO. **QTY. UNITS DESCRIPTION**

ALT-1			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$39.21	\$113,709.00
b.	5	EA	8" G.V. and V.B.	\$1,342.40	\$6,712.00

CITY OF HOGANSVILLE, GEORGIA	UWS, Inc.	
WSI/FY2019 CDBG WATER LINES	Trion, Georgia	

For furnishing all materials and equipment and performing all labor necessary for constructing the Water System Improvements as shown on the Drawings and as specified for the following unit prices and approximate quantities shown.

ITEM

NO. QTY. UNITS DESCRIPTION UNIT COST TOTAL COST

1.			· · · · · · · · · · · · · · · · · · ·	PVC WATER LINE		
	a.	21,045	LF	6" Pipe Line (Class 235 SDR 18)	\$30.00	\$631,350.00
	b.	225	LF	2" Pipe Line (ASTM D2241)	\$30.00	\$6,750.00

2.				DUCTILE IRON WATER LINE		
	a.	120	LF	6" Pipe Line and/or F.H. Lead	\$40.00	\$4,800.00
	b.	115	LF	6" M.J. / R.J. Ductile Iron Water Line	\$60.00	\$6,900.00
3.		4.0	TON	MECHANICAL JOINT FITTINGS	\$7,500.00	\$30,000.00
4.		7.2	CY	CONCRETE BLOCKING	\$500.00	\$3,600.00
5.		100	LF	12" STEEL CASING (0.250" w.t.) INSTALL BY OPEN CUT	\$175.00	\$17,500.00

6.			RESILIENT SEATED GATE VALVES		
a.	79	EA	6" G.V. and V.B.	\$850.00	\$67,150.00
b.	1	EA	4" G.V. and V.B.	\$850.00	\$850.00
c.	3	EA	2" G.V. and V.B.	\$850.00	\$2,550.00
7.	29	EA	Install 3-Way Fire Hydrant on New 6" Line (Include Fire Hydrant, D.I. Fittings, Locking Tee, Megalugs, Locking Adapter and Stone)	\$2,500.00	\$72,500.00
8.	1	EA	BLOW-OFF HYDRANT	\$1,750.00	\$1,750.00

CITY OF HOGANSVILLE, GEORGIA
WSI/FY2019 CDBG WATER LINES

UWS, Inc. Trion, Georgia

				TER DIVES	Thon, Georgia	and the second se
ITEN NO.	M	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
9.				CONNECT TO EXISTING WATER LINES		
	a.	9	EA	6"	\$1,750.00	\$15,750.00
	b.	1	EA	3"	\$1,750.00	\$1,750.00
	c.	1	EA	2"	\$1,750.00	\$1,750.00
10.				TAPPING SADDLE		
	a.	1	EA	6" x 2"	\$1,000.00	\$1,000.00
	b.	1	EA	6" x 3"	\$1,000.00	\$1,000.00
11.				REMOVE AND REPLACE		
	a.	300	LF	Asphalt Roadway	\$50.00	\$15,000.00
	b.	110	LF	Asphalt Driveway	\$50.00	\$5,500.00
	c.	1,200	LF	Concrete Sidewalk	\$50.00	\$60,000.00
	d.	100	LF	Concrete Driveway	\$50.00	\$5,000.00
	e.	50	LF	Brick Pavers	\$100.00	\$5,000.00
	f.	4	EA	Handicap Ramps	\$2,500.00	\$10,000.00
	g.	370	LF	Gravel	\$25.00	\$9,250.00
12.		0		FREE BORE		
	a.	74	EA	6" (<50' in addition to pipe)	\$1,250.00	\$92,500.00
	b.	3	EA	6" (>50' in addition to pipe)	\$3,750.00	\$11,250.00
13.				SOIL EROSION AND SEDIMENT CONTROL		
	a.	18,400	LF	Grassing for Water Mains	\$2.00	\$36,800.00
	b.	56	EA	Haybale Check Dam, Cd-Hb	\$50.00	\$2,800.00
	c.	5	EA	Stone Check Dam, Cd-S	\$50.00	\$250.00
	d.	8	EA	Inlet Sediment Trap, Sd2-P	\$175.00	\$1,400.00
	e.	400	LF	Silt Fence, Sdl-S	\$5.00	\$2,000.00
	f.	70	SY	Riprap, Rp	\$75.00	\$5,250.00
	g.	60	SY	Slope Stabilization, Ss	\$50.00	\$3,000.00

UWS, Inc. Trion, Georgia

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
14.			STORMWATER MONITORING		
a	1	LS	Monitoring Sites (Establishing, Constructing and Operating All Sites, Prepare and Submit Notice of Intent and Notice of Termination and all land disturbing fees per Section 3.16)	\$10,000.00	\$10,000.00
b	10	EA	Sampling Events	\$1,000.00	\$10,000.00
15.			SERVICE CONNECTIONS AND RECONNECTIONS		
a	6,000	LF	3/4" Service Line (PEX)	\$5.00	\$30,000.00
b	200	LF	1" Service Line (PEX)	\$5.00	\$1,000.00
с	1,460	LF	2" PVC Schedule 40 Casing	\$5.00	\$7,300.00

15.			RECONNECTIONS		
a.	6,000	LF	3/4" Service Line (PEX)	\$5.00	\$30,000.00
b.	200	LF	1" Service Line (PEX)	\$5.00	\$1,000.00
c.	1,460	LF	2" PVC Schedule 40 Casing	\$5.00	\$7,300.00
d.	86	EA	Service Bores (In addition to items a, b, c, and f)	\$175.00	\$15,050.00
e.	4,800	LF	Grassing Service Lines	\$2.00	\$9,600.00
f.	154	EA ·	Reconnect Services (including pipe saddle, corporation stop and curb stop)	\$750.00	\$115,500.00
Subtotal	Amount	Bid, Item	as 1 through 15 Inclusive, the amount of:		\$1,330,400.00

Subtotal Amount Bid, Items 1 through 15 Inclusive, the amount of:

16.			INSERT VALVES	-	
a.	1	EA	8"	\$8,000.00	\$8,000.00
b.	1	EA	6"	\$8,000.00	\$8,000.00
c.	1	EA	4"	\$6,000.00	\$6,000.00
17.	100	LF	SOD	\$10.00	\$1,000.00
18.	1	EA	RELOCATE EXISTING FIRE HYDRANT TO NEW WATER LINE (INCLUDING D.I. FITTINGS, LOCKING TEE, MEGALUGS, LOCKING ADAPTER, STONE, AND CONNECTION TO NEW LINE)		\$2,500.00

UWS, Inc. Trion, Georgia

Extra Work if Ordered by Engineer

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
19.	100	CY	ROCK EXCAVATION	\$60.00	\$6,000.00
20.	40	CY	CRUSHED STONE STABILIZATION OR BEDDING (Including excavation and removal of unsuitable soil)	\$75.00	\$3,000.00
21.	1	EA	REMOVE 48" TREE ON WEST BOYD ROAD	\$2,000.00	\$2,000.00
Subtotal	\$36,500.00				

TOTAL AMOUNT BID, ITEMS 1 THROUGH 21 INCLUSIVE, THE AMOUNT OF:

\$1,366,900.00

Note: The Owner reserves the right to make certain changes in the work for the purpose of making an award. Each bidder must fill in the amount as required below.

ALTERNATE BID ITEM

The Owner reserves the right to add the following alternate bid items to the work for the purpose of making contract award. Award of the contract may be with or without these items. Each bidder must fill in the unit price amount for each item below.

ITEM				
NO.	QTY.	UNITS DESCRIPTION	UNIT COST	TOTAL COST

ALT-1			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$35.00	\$101,500.00
b.	5	EA	8" G.V. and V.B.	\$1,000.00	\$5,000.00

CITY OF HOGANSVILLE, GEORGIA	Site Engineering, Inc.
WSI/FY2019 CDBG WATER LINES	Atlanta, Georgia

For furnishing all materials and equipment and performing all labor necessary for constructing the Water System Improvements as shown on the Drawings and as specified for the following unit prices and approximate quantities shown.

ITEM

NO. QTY. UNITS DESCRIPTION UNIT COST TOTAL COST

1.				PVC WATER LINE		
	a.	21,045	LF	6" Pipe Line (Class 235 SDR 18)	\$62.00	\$1,304,790.00
	b.	225	LF	2" Pipe Line (ASTM D2241)	\$40.00	\$9,000.00

2.			DUCTILE IRON WATER LINE		
a.	120	LF	6" Pipe Line and/or F.H. Lead	\$80.00	\$9,600.00
b.	115	LF	6" M.J. / R.J. Ductile Iron Water Line	\$80.00	\$9,200.00
3.	4.0	TON	MECHANICAL JOINT FITTINGS	\$8,000.00	\$32,000.00
4.	7.2	CY	CONCRETE BLOCKING	\$300.00	\$2,160.00
5.	100	LF	12" STEEL CASING (0.250" w.t.) INSTALL BY OPEN CUT	\$200.00	\$20,000.00

6.		ŭ	RESILIENT SEATED GATE VALVES		
a.	79	EA	6" G.V. and V.B.	\$1,400.00	\$110,600.00
b.	1	EA	4" G.V. and V.B.	\$1,000.00	\$1,000.00
c.	3	EA	2" G.V. and V.B.	\$600.00	\$1,800.00
7.	29	EA	Install 3-Way Fire Hydrant on New 6" Line (Include Fire Hydrant, D.I. Fittings, Locking Tee, Megalugs, Locking Adapter and Stone)	\$3,800.00	\$110,200.00
8.	1	EA	BLOW-OFF HYDRANT	\$3,000.00	\$3,000.00

Site Engineering, Inc. Atlanta, Georgia

ITEN NO.	AI.	OTV	TIMUTO	DECODIDITION	UNIT COST	TOTAL COST
		QTY.	UNITS	DESCRIPTION	UNITCOST	TOTAL COST
9.				CONNECT TO EXISTING WATER LINES	#0.500.00	#00 500 00
	a.	9	EA	6"	\$2,500.00	\$22,500.00
	b.	1	EA	3"	\$2,000.00	\$2,000.00
	c.	1	EA	2"	\$2,000.00	\$2,000.00
10.				TAPPING SADDLE		
	a.	1	EA	6" x 2"	\$2,000.00	\$2,000.00
	b.	1	EA	6" x 3"	\$2,200.00	\$2,200.00
11.				REMOVE AND REPLACE		
	a.	300	LF	Asphalt Roadway	\$120.00	\$36,000.00
	b.	110	LF	Asphalt Driveway	\$100.00	\$11,000.00
	c.	1,200	LF	Concrete Sidewalk	\$60.00	\$72,000.00
	d.	100	LF	Concrete Driveway	\$80.00	\$8,000.00
	e.	50	LF	Brick Pavers	\$100.00	\$5,000.00
	f.	4	EA	Handicap Ramps	\$2,000.00	\$8,000.00
	g.	370	LF	Gravel	\$20.00	\$7,400.00
12.				FREE BORE		
	a.	74	EA	6" (<50' in addition to pipe)	\$4,000.00	\$296,000.00
	b.	3	EA	6" (>50' in addition to pipe)	\$5,000.00	\$15,000.00
13.				SOIL EROSION AND SEDIMENT CONTROL		
	a.	18,400	LF	Grassing for Water Mains	\$2.00	\$36,800.00
	b.	56	EA	Haybale Check Dam, Cd-Hb	\$200.00	\$11,200.00
	c.	5	EA	Stone Check Dam, Cd-S	\$400.00	\$2,000.00
	d.	8	EA	Inlet Sediment Trap, Sd2-P	\$400.00	\$3,200.00
	e.	400	LF	Silt Fence, Sdl-S	\$5.00	\$2,000.00
	f.	70	SY	Riprap, Rp	\$80.00	\$5,600.00
	g.	60	SY	Slope Stabilization, Ss	\$10.00	\$600.00

Site Engineering, Inc. Atlanta, Georgia

ITEM							
NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST		
14.			STORMWATER MONITORING				
a.	1	LS	Monitoring Sites (Establishing, Constructing and Operating All Sites, Prepare and Submit Notice of Intent and Notice of Termination and all land disturbing fees per Section 3.16)	\$5,000.00	\$5,000.00		
b.	10	EA	Sampling Events	\$500.00	\$5,000.00		
15.	3		SERVICE CONNECTIONS AND RECONNECTIONS				
a.	6,000	LF	3/4" Service Line (PEX)	\$20.00	\$120,000.00		
b.	200	LF	1" Service Line (PEX)	\$25.00	\$5,000.00		
c.	1,460	LF	2" PVC Schedule 40 Casing	\$15.00	\$21,900.00		
d.	86	EA	Service Bores (In addition to items a, b, c, and f)	\$1,000.00	\$86,000.00		
e.	4,800	LF	Grassing Service Lines	\$3.00	\$14,400.00		
f.	154	EA	Reconnect Services (including pipe saddle, corporation stop and curb stop)	\$800.00	\$123,200.00		
Subtotal	Subtotal Amount Bid, Items 1 through 15 Inclusive, the amount of:						

16.			INSERT VALVES		
a.	1	EA	8"	\$10,000.00	\$10,000.00
b.	1	EA	6"	\$10,000.00	\$10,000.00
c.	1	EA	4"	\$9,000.00	\$9,000.00
17.	100	LF	SOD	\$30.00	\$3,000.00
18.	1	EA	RELOCATE EXISTING FIRE HYDRANT TO NEW WATER LINE (INCLUDING D.I. FITTINGS, LOCKING TEE, MEGALUGS, LOCKING ADAPTER, STONE, AND CONNECTION TO NEW LINE)	\$4,000.00	\$4,000.00

Site Engineering, Inc. Atlanta, Georgia

Extra Work if Ordered by Engineer

ITEM NO.	QTY.	UNITS	DESCRIPTION	UNIT COST	TOTAL COST
19.	100	CY	ROCK EXCAVATION	\$60.00	\$6,000.00
20.	40	1	CRUSHED STONE STABILIZATION OR BEDDING (Including excavation and removal of unsuitable soil)	\$100.00	\$4,000.00
21.	1	EA	REMOVE 48" TREE ON WEST BOYD ROAD	\$5,000.00	\$5,000.00
Subtotal Amount Bid, Items 16 through 21 Inclusive, the amount of:				\$51,000.00	

TOTAL AMOUNT BID, ITEMS 1 THROUGH 21 INCLUSIVE, THE AMOUNT OF:

\$2,595,350.00

Note: The Owner reserves the right to make certain changes in the work for the purpose of making an award. Each bidder must fill in the amount as required below.

ALTERNATE BID ITEM

The Owner reserves the right to add the following alternate bid items to the work for the purpose of making contract award. Award of the contract may be with or without these items. Each bidder must fill in the unit price amount for each item below.

ITEM

NO.	QTY.	UNITS DESCRIPTION	UNIT COST	TOTAL COST

ALT-1			8" Water Line		
a.	2,900	LF	8" PVC (Class 235 DR18)	\$68.00	\$197,200.00
b.	5	EA	8" G.V. and V.B.	\$1,600.00	\$8,000.00

SAM Search Results List of records matching your search for : Search Term : Smith Pipeline, Inc.* Record Status: Active					
ENTITY Smith Pipeline,		Status: Active			
DUNS: 195119045 +4:	CAGE Code: 5NSL5 DoD/	AAC:			
Expiration Date: 01/11/2021	Has Active Exclusion?: No Debt Subject	to Offset?: No			
Address: 240 COUNTRY LN City: NEWNAN ZIP Code: 30263-4971	State/Province: GEORGIA Country: UNITED STATES				